Good morning,
I have been asked a question about calculating settlement discount received and how to treat it.

Here goes.

I bought something that cost me R11400 including VAT and there is an early settlement discount of 10% if I pay within 30 days.

There are two ways you can do it.

You can take the full amount and then multiply it by 90% (i.e. the 100% original price minus the percentage of the discount) and that is the price you would pay the supplier INCLUSIVE of VAT.

The other way is to take the R11400 and divide it by 114 and multiply that by 100 – then minus 10% of that figure and add back 14% of that figure for the VAT because you took VAT off in the first place.  It seems a bit complicated but this is actually the right way of doing it.  In the first instance you may get a slightly different figure because of the “rounding” especially if the numbers are quite large. – So do use the second way
Going back to our purchase
Example – Number 1

11400 * 90% = 10260 INCLUSIVE of VAT.

Example - Number 2

11400 / 114 * 100 = 10000 WITHOUT VAT. 
Then take the percentage discount off that figure of 10% so 10000 -  10% = 9000.  Then add the VAT back on of 14%.  So 9000 +  14% = 10260 
For these examples the two answers are the same luckily – when you have large figures or amounts with cents the rounding comes into play so try and use this second way even if it seems longer
If you use the first way then you still have to take the VAT off so you can allocate it – in the second example you have already got the figure without VAT – so it is much of a muchness really.

To take off the VAT – take the full figure inclusive of VAT and divide by 114 (make sure the question says 14% - it may just say 10% to make it easier for students who forgot to take their calculator with them so double check the percentage in the question – if no percentage is stated then the default is 14%). 
 When you have divided it by 114 then multiply it by 14 and your result is the applicable amount of VAT.  (If you had multiplied the figure by 100 instead of by 14 then you would have got the amount of the purchase after you had taken the discount but excluding the VAT).
Practice it guys – it will be in the exam I guarantee you.

Now you will have the full amount, the amount of VAT and the amount excluding VAT.  To enter it now is easy.

Cash payments journal.

In the total column you put the amount of the actual payment you are making to the supplier – e.g. after you have taken the discount and including the VAT you owe him.  The amount in the total column of a cash payments journal is always the amount of the physical payment either cheque or EFT – no exceptions ever!!!!!!!!!

Then in the Trade Creditors column you put the FULL amount of the ORIGINAL invoice – this amount is larger than the amount in the total column.
 But think about it  - when you purchased the item you increased your creditors balance by the amount of the original invoice – you cannot just reduce that amount by the cheque amount otherwise it will make it seem as if you still owe the supplier money which is wrong because he has given you discount – nice of him.
So you must reduce creditors by the amount of the original invoice!!!!!!!!!!!  

Then the difference between the amount of the original invoice and the payment you are now making  is the settlement discount INCLUDING VAT you have taken – and you put those figures in the settlement received & VAT columns respectively. 
 BUT remember that they will be minus figures!!!!!!!!  Settlement discount received is income and is posted as a credit to the general ledger as such.  For the VAT you need to reduce the Input VAT that you have already claimed on the original invoice as you are no longer paying VAT on the discount amount – so to reduce the Input VAT you must credit it.

So in our example and in our cash payments journal we would have

    Total                               Creditors                           Discount received                         VAT

   10260                                11400                                     (1000)                                        (140)
Remember that all the column totals in any journal must all add up to the TOTAL column (called cross casting). 
In our example  if we add all our columns up we get 11400 MINUS 1000 MINUS 140 = 10260 which is the actual amount we are physically paying our supplier – so we are right and we cross cast.

Simple.

You need to make up some questions of your own and practice – it doesn’t take long for the penny to drop or the light to go on – but you do need it for the exam so practice guys please.

Amanda.
